Ex]
@ x © xy
© 2x+3y ® —2x+3y
@ xy(-2x+ 3y) @ xy® (3x-2y)

B =




2.

o5 B71 & xy(2x + 3y) —xy(x +y) o] A48 BF IE A0

H7]
@ xy © x+y ©® x+2y
® 2x+3y © x(x+2y) ® y(x+y)
® ©,6 ® 0,0,0 ® 0,06
@ ©,®,0 ® ©, O,




3. (x-3y)?-2x+6y+1E AFESHH?

@D (x-3y-1)2 @ (x-3y+1)2
® (x+3y-1)2 @ (x+3y+1)2

® —(x+3y+1)?
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5. (@ +3x+3)(x* +3x-5)+7 o A S

O x-1 © x+1 © x-2

@ x+2 @ x-4 ® x+4
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6. (2x+1)2-(x-2)2=Bx+a)(x+b) & M, a+3b 2] FF= F5HH?

@D 4.5 ® 6 B 7 @ 8 ®B 9



7. X+xy+x+yE dsEastH?

@ (x+y)(1-x) @ (x+y)(x-1) ® (x-y)(x+1)
@ (x+y)(x+1) ® (x-y)(x-1)






x% +3xy —x—6y—2 5 A5l oA (x - 2)(ax + by + ¢) °]Th.
a+b+c o g& Fotefzh

aa?a%-bw—c:



10.

x? —y? 4+ 8x 4 4y + 12

O (x+y+3)(x-y+4) @ (x+y+4)(x-y+3)
® (x+y+2)(x+y+6) @ (x+y-2)(x—y-6)

® (x+y+2)(x—y+6)




11, x®—4xy+3y?—6x+2y-16 < A5l SFAEHY (x+ay+b) (x+cy+d)
7FEATk ol ®, a+ b+ c+d O F2?

D -10 @ -9 3 -8 @ -3 B 2



12.

@ 2x3 —8x% — 10x = 2x(x® —4x - 5)

=2x(x-5)(__)
© (x+y)2+3(x+y) +2°4[ |8 A = 28t}

DO x-1,x-y @ x-1,x+y ® x+1,x-y

@ x+1,x+y ® x, x+vy



13.

(x-2)x>-3(x-2)x-10(x-2) & AFEl5tH?
@ (x-2)(x=5)(x+2) @ (x-2)(x+5)(x+2)
® (x=2)(x-5)(x+3) @D (x-2)(x+5)(x-2)
® (x-2)(x+5)(x=13)






15. o= 5 x%? - Xy —xy? 4+ xy 9 Qle=?

@ x-1 @ x+1 ® y+1 @ x+vy ® x-y



16. 49x% -9+ 1dxy +y* & A2 AEY (ax + y 4 b)(ax + cy + 3)
7F = 3Aek. oldl, <4 a, b, ¢ ol W5k a - b + ¢ O] Fh= TSP

@D 2 ® 4 3 6 @ 11 B 16



